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APKKOCUHYC

O6o3HaveHne: APKKOCUHYC a 0603HaYaeTcH
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ApPKTaHreHc

O6o3HavyeHne: ApPKTaHreHc a 06o3HavaeTcs

arctga.
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ApPKKOTaHreHc

O6o3HaveHne: APKKOTaHreHc a 0bo3HavaeTcs
arcctg a.

*APKKOTaHreHCOM 4YMcria a Ha3biBaeTCH Takou
y2os1n3 unHTepBana (0;m).koTaHreHe KOTonoro

PABE 4, arectea, = - = glox
ONe 1) b e (05m) s € %) =97 | g

: & | x \0
*T.K. 2) ctgb=a. L

e — -

arcctg(-a) = n - arcctga




[Tlpumepbl BbIMUCIIEHUN

¢ 1)

arcctg71§— = %, T.K. tg
° 2)

arcetg(—/3) = n — arcctgv%_ =7 - % =g




3anosrnHu Taonuubl

E o o _ﬁ _-\@- i ™ ﬁ -J—E l
| 2 2 2 2 2 2
 arcsin a
Larccos a Ll gl
i W | ]
o -3 -1 G jj; V3
arctg a
Ve [N (RO |V (O ) ¥




[lomaluHee 3agaHue

e BbluncnuTb:

" 1) V3 1
arccos(; arccosl ; arccos———, arccos( 2),‘ arccos(-1).
° 2)
1. V3 ., SEY : 17
arccos 5 —arccos > arccos( 2) arccos >
° 3)

sin ( arccos ( - -21—)) ; ¢tg (arccos0);

tg ( arccos —\é;) ; 8in (arccos iz—g—J :




